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char s ;
int main
int i,j,k,1;
scanf("%s",s+1);
l=strlen(s+1);
i=1;i<=1;
j=1i,k=1i+1;
k<=1&&s [k|>=s ]
s[kl>s[j])j=1i;
j++;
k++;

i<=j
i+=k-j;
printf("sd ",i-1);
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staltop++|=n+1;
i=n;i;i--
rnk|staltop- >rnk[i])top--;
nxt/i/=staltop-1/;
staltop++]/=1i;
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#include<cstdio>
#include<algorithm>
#include<queue>
#include<map>
#include<cstring>
#include<cmath>
#include<cstdlib>
#include<set>
#include<unordered map>
#include<vector>
typedef long long 11;
using namespace std;
#define N 100010
char s[N];
int n,salN],c[N],x[N],y[N];
void getsa(int m){
int i,k;
for(i=0;i<=m;i++)c[i]=0;
for(i=1l;i<=n;i++)c[x[i]=s[i]]++;//also x[i]=s[i]-'a’
for(i=1;i<=m;i++)clil+=cli-1];
for(i=n;i;i--)salcix[il]--]=1;
for(k=1;k<=n;k<<=1){
int p=0;
for(i=n-k+1;i<=n;i++)y[++pl=1i;
for(i=l;i<=n;i++)if(salil>k)y/++pl=salil-k;
for(i=0;i<=m;i++)c[i]=0;
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i=1;i<=n;i++)c[x[y[i]]]++;

’

i=1;i<=m;i++)clil+=cl[i-1];

i=n;i;i--)salclxlyli --l=ylil;
swap(x,y);
p=x|sa =1;
i=2;i<=n;i++
x|[salill=ylsalill==ylsali- &ylsalil+k|==y[sali-1|+K!?p:++p;
p==n ;

m=p;

int h{N!,rnk[N];
void geth
int i,j,k=0;
i=1;i<=n;i++)rnk[salil|=1i;
i=1;i<=n;i++

kK k--;
j=salrnk[i]-17;
slit+k|==s[j+k] ) k++;
hirnk[i]]|=k;
int rmg[N ,Lg[N;
void initlcp
int 1i,j;
i=2;i<N;i++)1g[i]=1g[i-1]+(1<<(lg[i-1]+1)==1i);
getsa ;
geth();
i=1;i<=n;i++)rmq[i =h[i];
i=1;1i<=22;i++
j=1;j+(1l<<i-1)<=n;j++
rmq jllil=min(rmq|j|[i-1],rmq[j+(1l<<i- i- ;

int getlcp(int x,int y
X==y n-x+1;
rnk[x/>rnk|y]|)swap(x,y);
int 1=rnk(x!+1,r=rnkly];
int p=lg[r-1+1];
min(rmq/l![p!,rmgqlr-(1l<<p)+1](p

int stalN|,top,nxt(N/;
int main

int i,q;

scanf("%s%d",s+1,&q) ;

n=strlen(s+1);

initlep();

stal top++|=n+1;

i=n;i;i--
rnk|staltop- >rnk[1i])top--;
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nxt/i/=staltop-1];
staltop++/=1;

q--
int r,1,k;
scanf("%d%d",&L,&K) ;
r=nxt[1];
==1||r==n+1)printf("%d %d\n",1,n);

int lcp=getlcp(l,r);
lcp==0)printf("%d %d\n",1,r-1);
int len=r-1,tot=1lcp/len*len+len;
tot/len)%sk==
l+tot==n+1)printf("%sd %d\n", 1, l+tot/k-
printf("%sd %d\n",l+tot-tot/k,n);
printf("%d %d\n",1l,1+((tot/len-1)/k+1)*len-

’

From:
https://wiki.cvbbacm.com/ - CVBB ACM Team

Permanent link:
https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:i_dont_know_png:potassium:lyndon

Last update: 2020/05/22 20:12

CVBB ACM Team - https://wiki.cvbbacm.com/


https://wiki.cvbbacm.com/
https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:i_dont_know_png:potassium:lyndon

	Lyndon 串
	介绍
	算法
	Duval 算法
	后缀数组+单调栈

	例题


